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Matching :
@ 1000L
@ 0.001L \ o 1mL
@ 1000cn® 1m®
@ 0.000001m* 1L
® 0.001m®
Bk
Complete the table :

Volume Capacity
M| 300 cm® 300 mL 0.3 L
@| 8400 cm® 8400 mL 8.4 L
@| 1200 cn® 1200 mL 1.2 L
@| 20 cm? 20 mL 0.02 L
®| 432 cn® 432 mL 0.432 L
®| 9120 cm® 9120 mL 9.12 L
@Dl 5 5000000 mL 5000 L
0.01 n® 10000 mL 10 L
®@)|0.0073 m® 7300  mL 7.3 L
@| 0.18 m? 180000 mL 180 L
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FIRFE D (Bacem)
Calculate with solutions : (unit: cm)
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A B % 8x20x20+10x20x(20-4-4)+8x20x20/
Volume 40x20x20 Volume (1048+8)x20x20-10x20x4-10x20x4
_ _3200+2400+3200 /
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Vf%uﬁ= 8x6x2-5x3x1 Vf%uﬁ=10x9x20—3x9x9
= 96-15 =1800-243
= 8lcm? =1557cm?
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%ﬁ %ﬁ 12x2x4+4x2x(10-4-4)+8x2x4/
Volume . 9Xx9x9 Volume ~ 12x2x10-(12-4)x2x(10-4-4)-(12-8)x2x4
= 81x9 =96+16+64/240-32-32
- 729Cl]13 = 176CI]]3
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